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Instructions

· The time for the test is 1 hour.

· Answer all questions. 

· [image: image18.jpg]


Answer the questions in the spaces provided 
– there may be more space than you need.

· Questions that require a calculator are marked with the symbol         .

Information

· The total mark for this paper is 50.

· The marks for each question are shown 
– use this as a guide as to how much time to spend on each question. 

Advice

· Read each question carefully before you start to answer it. 

· Keep an eye on the time.

· Try to answer every question. 

· Check your answers if you have time at the end.
1
Sketch the shape represented by this plan and front and side elevations.
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(3 marks)

2
On the grid below, draw the graph of y = 3x – 1 for –2 ≤ x ≤ 4.


Do not draw a table of values.
[image: image2.emf]
(4 marks)

3
Construct a triangle with an area of 20cm2 using a ruler and compasses.
(3 marks)

4
The diagram shows a trapezium.
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a
Work out the area of the trapezium.
........................................ cm2
(2 marks)


b
Work out the perimeter of the trapezium.



Give your answer correct to 1 decimal place.
........................................ cm

(2 marks)

5
The graph shows the cost, C, of hiring a car for a number of days, d.
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a
Write the equation of the line.
........................................

(2 marks)

b
Simon has £300.



For how many days can he hire a car?
........................................

(1 mark)

6
The line segment AB is drawn on centimetre-squared paper. 


A is the point (–1, 3), B is the point (3, 11).

a
Find the gradient of the line segment.  

........................................

(1 mark)


b
Find the midpoint of  the line AB.
........................................

(1 mark)


c
Find the length of the line segment AB.



Give your answer correct to 1 d.p.
........................................

(1 mark)

7
Here are sketches of six graphs, numbered 1 to 6.
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Here are six equations of graphs.
Match each equation to one of the graphs.
a
y = –3x + 1
..................
b
y = x2
..................
c
y = 
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..................
d
y = –x2
..................
e
y = 2x + 1
..................
f
y = x3
..................
(4 marks)

8
Calculate the perimeter of this shape. 


Give your answer correct to 3 significant figures.
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........................................ cm

(3 marks)

9
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a
Describe fully the single transformation that maps


i
A onto B,
....................................................................................................................................................................

....................................................................................................................................................................



ii
A onto C.
....................................................................................................................................................................

....................................................................................................................................................................

(4 marks)


b
On the grid above, enlarge shape A by scale factor –2 about point (0, 2).
(2 marks)

10
 The volume of the cylinder below is 166 cm3. 

Calculate the height of the cylinder.
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........................................ cm

(2 marks)

11
Write the equation of a line which is

a
parallel to y = 5x + 2,
........................................

(1 mark)


b
parallel to 3y + 4x = 12,
........................................

(1 mark)


c
perpendicular to y = –3x + 4 and passes through (6, 4).
........................................

(2 marks)

12 Here is a graph of the quadratic function y = x2 – 2x – 3.
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a
What are the coordinates of the minimum point?
........................................

(1 mark)


b
What is the equation of the line of symmetry?
........................................

(1 mark)


c
Solve the equation x2 – 2x – 3 = 1
........................................

(2 marks)

13
Here is a 3D solid made of a cone and a hemisphere.


Calculate the volume of this solid.
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Volume of a cone = 
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Volume of a sphere = 
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........................................ cm3
(4 marks)

14
The radius and height of this cylinder are given correct to 1 decimal place.
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Calculate the upper and lower bounds for its volume.

Upper bound = ........................................ cm3
Lower bound = ........................................ cm3
(3 marks)

TOTAL FOR PAPER = 50 MARKS[image: image15.jpg]
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